=L =
pX n+
1. T %4 W AL /N BER P K e T3
2. i T 3% R THHEH PR — T H 33-1

3. T 1 HRIAE B SFTHE2H4HET

4. X A

Elee €ty =l Y ¢ 2 i




FE /NI R K E T8 TEMRS RS P RR

wERH (s 4 10,136,500 Ay
T il ¥ 4 9,215,000 Ay

THE P A 24 %A & 921,500 5




B W

ERNERBERFKSETLSE No.
% b i3] = B B i & 28 &
[ERZARE Xy
| @51 1] K 6,171,888
B TR 6,171,888
Hm gy
IR =X 403,233
BI5GB = 1,325,359
e B = 1,315,429
Fam 3,044,021
&t 9,215,909
TR TR EI0ET 9,215,000
THE RS Y%A 921,500
wER (LFEE) 10,136,500




RRNFREERHKBETE No.

% b i3] = # 2 Bifg B i & )
BEITE
RGN 1 3K 686,281
Bhok & T8 1 = 4,974,701
NEEUE T 1 3K 22,236
AR A ¢ 1 = 488,670
&t 6,171,888




